THERMARTRU’

DOORS
Fiber-Classic. & Smooth-Star.

WOOD OR COMPOSITE EDGE
GLAZED FIBERGLASS SINGLE DOOR
w/ DIRECT SET SIDELITE(S)

INSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 international
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject o the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment to
base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borme debris protection this product is required to be
protected with an impact resistant covering that complies with Section R301.2.1.2 of the
IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the design pressure

rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.
5. Fiber-Classic and Smooth-Star Door and Sidelite panels require the use of "J" part
numbers. These door and sidelite panels must be stained or painted within six months of
installation.
TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET #
1 Typical Elevations, Design Pressures & General Notes 7 Vertical Cross Sections
2 Door Panel Details 8 Frame Anchoring
3 Door Panel Details 9 Hardware Details
4 Sidelite Panel Delails 10 Glazing Details
5 Elevations 11 Bill of Materials & Components
6 Horizontal Cross Sections

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
813.659.9197

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-—11852

THERMA-TRU
FIBERGLASS DOOR
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PART OR_ASSEMBLY:

PRODUCT:

BY

NOJ DATE

DATE: 1/06/21

SCALE:  N.T.S.

71.75" MAX O.A. FRAME WIDTH ———
15.5" MAX. 3775'MAX __
FRAME WIDTH {‘—FRAME WIDTH
4/// (///
<
O
O b4
5 T O @)
< w
:s
NE
J
|
(TYP.)
2X DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF)
CONFIGURATION GI:AO;?:G REINFORCEMENT w/ FJ PINE JAMBS w/ COMPOSITE JAMBS
REQUIRED POSITIVE | NEGATIVE | POSITIVE | NEGATIVE
NO +40.0 -45.0 +35.0 -45.0
LIP LITE

X0, OX YES +40.0 -45.0 +45.0 -50.0

oxo FLUsH NO +50.0 -55.0 +35.0 -45.0

YES +50.0 -55.0 +45.0 -50.0

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5140

sheer _ 1 ofF 11

Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' Glazed FG Nonimp IS Dir Set Sidelites (TX 5140-5145\C - Drawings\TX-5140-41.dwg

REVISIONS

© 2021 R.W. BUILDING CONSULTANTS INDC.



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' Glazed FG Nonimp IS Dir Set Sidelites (TX 5140-5145)\C - Drawings\TX-5140-41.dwg

- 2.375" - 12" OOy W
@ EXTERIOR 2375 12 ki 5..}’93‘*1, e P
e , NOTE: BOOK, HYBRID & U1 DOORS Ae-iEity, |82 o By
1 % 4 MAY EACH BE FABRICATED AS WOOD | | £, 15ie &i8%) (55 8 £%
= 3 Q. OR COMPOSITE EDGE DOORS. g%%u T oggg Yue 20, 6L
. % 119 OO W -
‘ | LA e \ f’“"."- 5%5‘" s h“. ég é Sa 22
A el ; '4’,;;25-. idi hjER Eig 02
J’:.N.‘.EZ LA &) DSk 0 é
HINGE STILE INTERIOR LoCK BLOCK LOCK STILE A LR Zoa b
(ENGINEERED WOOD) 12.5"'LONG (WOOD)  (ENGINEERED WOOD) Tt & Oy Ed
1"\ HORIZONTAL CROSS SECTION 3 25% u,
(2_/woob e A
| 12 T—‘ £ ReE gk
041" —=| = EXTERIOR R »i . 2 ok
—— r* 0.41 E § § E
* I ) 2 e< =©
= 8
N S =
* Al JP COMPOSITE .
: CAP
composTL INTERIOR LOCK BLOCK \ x| =
CAP ENGmE;EE[S)TwEC)OD 12.5' LONG (WOOD) HINGE STILE 28 Ly
‘ ) 7“2\ HORIZONTAL CROSS SECTION (ENGINEERED WOOD) TOP RALL To s o
\y COMPOSITE EDGE L (COMPOSITE) % § =
Wy o
TOP RAIL 1 e g «
m
36" MAX. DOOR ___35813" MAX. DOOR _ 35813'MAX.DOOR __, ] N éﬁ?&@gﬁf{w S 5= |y 8
PANEL WIDTH PANEL WIDTH PANEL WIDTH 3 : < 2 >
: , o Y
{ T roamcore — ||'; - -
. . (POLYURETHANE - .- %
gl 1.9 PCF MIN.) gl
/ I ot s
A 21.12" MAX. L S 4 4 2
5 o Z 5 INTERIOR EXTERIOR INTERIOR EXTERIOR S
= o 3 T n = in @\ \ 3 3
2 ° o 2 w2 >
< E < < : :
> 132 > R < R
g 5 8 g
% tz % 't s N =
= X = 2 . ke
g = g g 3 Ll -
N o R R pas ; 4 S 3
< : ' =
Y T~ FIBERGLASS SKIN — L oaTe: 1,/06/21
i | -~ 0O7S'TK] = 1 e
— BOTTOM RAIL = e e — DWG. BY:  RW
—1.7" — (COMP.) L 171 —»1 CHK. BY: LFS
DRAWING NO.:
3 \ VERTICAL CROSS SECTION 4 \ VERTICAL CROSS SECTION
‘ DOOR PANEL . DOOR PANEL ‘ DOOR PANEL @ WOOD EDGE @ COMPOSTEEDGE TX-5140

© 2021 R.W. BuiLbING CONSULTANTS INC.



Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - £'8, 7' & 8' Glazed FG NonImp IS Dir Set Sidelites (TX 5140-5145)\C - Drawings\TX-5140-41.dwg

COMPOSITE

HINGE STILE
(WOOD)

0.41" —=

2 'T

/"1 \ HORIZONTAL CROSS SECTION

EXTERIOR

INTERIOR

w WOOD EDGE

1.7

HINGE STILE
CAP {ENGINEERED WOOD)

36.0" MAX. DOOR
PANEL WIDTH

>

N /

N P TS
/ —
- )
5 26.0" MAX. g
T D.LO. <
o (FLUSH GLAZING) O
= _{ =
& X e|l— &
Q ®)
la ® i
> T a
< - >
= h <
5 g
3 / 2
Va ¢
/ ‘

D

( :> DOOR PANEL
BOOK

EXTERIOR

A\Y

INTERIOR

2.375" 12" =
J
LOCK BLOCK
12.5" LONG (WOOD) (E"ﬁéct’vggi)

~— 1.875"
’1 t* l.2“—>1 l*v 0.41"

T~~~ COMPOSITE
7 CAP

/ 2"\ HORIZONTAL CROSS SECTION

w COMPOSITE EDGE

___ 35813"MAX.DOOR ____

PANEL WIDTH

(27
NEV

79.25" MAX. DOOR PANEL HEIGHT

LOCK BLOCK

(12.5" LONG WOOD)

. 35813'MAX.DOOR ___

STILE
[ENGINEERED WOOD)

PANEL WIDTH

>

. DOOR PANEL
Hybrid Door

I

79.06" MAX. DOOR PANEL HEIGHT

5.5 —=|

(2
NEY

®
55 —— =

>

( :> DOOR PANEL
U1 Door

,'—\,‘\.\:\-‘\}\"Ltu
Sowild g
ool M = B
DT E T,
LS B
&F iBie
~; i i

g 3,30
o i3
3 1Z e
U, Hex:
YL, D1
B, 3 Z L
IS i S o
Mg ris e
T

TOP RAIL
(COMPOSITE/ENGINEERED

/ WOOD) \

EXTERIOR

& il
S S
; (]

g FOAM CORE

- (POLYURETHANE—""_ [}

1.9 PCF MIN.)
oy
7
INTERIOR EXTERIOR INTERIOR

0.78"

7“3\ VERTICAL CROSS SECTION

FIBERGLASS SKIN
(0.073" THK.)

BOTTOM RAIL —

(COMP.)

I

_/

5 -
O S
AN
:
'

17—

/"4 \ VERTICAL CROSS SECTION

P—-—L—“ov.az" |

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123
P.0. Box 230 Valrico FL, 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

THERMA—TRU

FIBERGLASS DOOR
DOOR PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

NOJl DATE

REVISIONS

DATE: 1/06/21

scAE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

\y Shown w/ Fush Glazing

w Shown w/ Flush Glazing

DRAWING NO.:
T™X—5140

SHEET _ 3 oF 11

© 2021 R.W. BuiLDING CONSULTANTS INEC.




iy
0oy
112 ——|  |=—1/2" GLASS BITE 88, Ba
£x 2 g
by 9B oY
2 E2 N fu
{ h-g g‘ ﬁ 2 o T
g o <
PYCINSERT  —1"OA.THK GLASS ¢ 2l o
S1&2 BACKBEDDING o g @é
Z 0w
o» [e R 44
COMPOUND ™| 1/8' TEMPERED —m|  |=—1/2" GLASS BITE & oN; K@
o ] EZ W
/ GLASS H] % By O
R
% 18 GA. X 1" BRAD NAIL ==\\_ 2 3§ 2k
(LOCATED 1-1/2" FROM ENDS AR SPACE 2 m g
8 4" O.C. THEREAFTER) b \ PVC INSERT ——3/4'O.A. THK. GLASS : & ég
E BACKBEDDING — | 1/8" TEMPERED BACKBEDDING 8
LA it
COMPOUND STEEL SPACER GLASS COMPOUND ™| o 1/8" TEMPERED
GLASS
1"\ HORIZONTAL CROSS SECTION GLAZING STOP (7/16) 18 GA. X 1" BRAD NAL —__| T "
N GLAZING DETAIL (LOCATED 1-1/2" FROM ENDS AIR SPACE =
(: vy & 4" O.C. THEREAFTER x t
1" Insulated Glass ) / 1/8" TEMPERED §§ s
BACKBEDDING GLASS Zm o @
5 . s0 14l <
By oty COMPOUND STEEL SPACER 23 | =
3 GLAZING STOP (7/16') IE o p
- 13" MAX. P
D.L.O WIDTH g & |l &
() GLAZING DETAIL = S|
/ 3/4" Insulated Glass S E
Va ¥ &
/
&
AIR SPACE AIR SPACE
R 1/8' TEMPERED 1/8" TEMPERED 1/8" TEMPERED 1/8" TEMPERED
= £ - GLASS GLASS GLASS GLASS
O \ 4
58 4/ »
% 9 \ g # 3 5
5 o O EXTERIOR p INTERIOR 1" O.A. THK, GLASS — [~ (ﬁp w 3/4" O.A. THK. GLASS é b 0
§ = STEEL SPACER = STEEL SPACER =
- e]
y 9 GLAZING STOP L ____J_ GLAZING STOP L ‘
~ (7/16") (7/16')
i !
» 33 i i =
] BACKBEDDING BACKBEDDING S
/ V] SIDELITE COMPOUND SIDELITE COMPOUND .
Vi 5 = ADAPTER ADAPTER S
/ oy :
GLAZING DETAIL GLAZING DETAIL bate: 1,/06/21
1"Insulated Glass 3/4" Insulated Glass ScAE:  N.T.S.
E 2 } pwe. B:  RW
CHK. BY: LFS
/ 2"\ VERTICAL CROSS SECTION e
@ DIRECT SET SIDELITE FRAME \4/ TX—5140
SHEET 4 oF 11

Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of ins\TD! - DR XXX - 6'8, 7' & 8' Glazed FG Nonimp IS Dir Set Sidelites (TX 5140-5745\C - Drawings\TX-5140-41.dwg

© zo021 R.W. BuiLDING CONSULTANTS INC.



TONG SANVLTINSNGOD aNIaIng

‘MY LZ0Z Q)

SEE HARDWARE CHART

&

ELEVATION
10) (@)

ELEVATION
XO

ZGBL1—d4 # NOLVMLSIORM 40 ILVOLALNID SNOISIAJd -
SHIINIONI TWNOISSIL0Ud 40 QuVOE SvXaL SNOILVATTI A8 41va [ON Slalsln]l o H_
crear . 0 e

LBL6°6G9°CLE "ON 8uoyd : Nt A
66GEC 14 OOUIPA 0EZ Xog .O.m\h\hg CATENESSY H0 1Mvd nOo W -~ . :1u S
"ONI *SINVLINSNOD ONIgINg N . g | 5_

¥00Q SSY19¥38ld = 1Bl Ele X
CZLYOL# ‘I'd SVXIL NY1-YWH3HL i M olelE &
"3'd IPIUYDS 4 Uopuky Ag pedodeid sjuswinoog S1LoNQ0¥d - 3R W S W 5

)

<

L

A @ @

00- ..Aco\ o oc
mgua MN?VQF .:-of:-ww ﬁ E
,\;.z!u.ooono--:.::-: '3
2 L QINHOS 3 NOGNAT 2 & o
\ :-.:o:o-noo-:v-o.- H \u — -—
&uanooo“« % *“ Fradill =t
A Y < <

QF g, A os o |22
g b mnte s SO 52|23
gJd 40 25 - 2 >

STETTTTRY < s ~
X pa ) e
5 L8l.8
< S2|9%
= z =z
2 CSol|lE€a
A M
T
N ~O [A8]
@ \ % 8 | &
S | 2
g | &

Fiber-Classic/Smooth-Star Door Panel Options
Panel options shown are for illustration and are representative only

{similar glazed panel configurations are allowed)

Bmp'Ly-0vLS-X1\sBumeld - D\(SPLS-0pLS X1) SPHIBPIS 195 41 S| dWUON D4 Paze|9 8 8 L ‘8.9 - XXX dQ - 1QL\su Jo 1daq sexa] - @\LNINVINYId NiL BULIBY\SIUSID\Z




TONG SANVLINSNGD aNIgTing "Mm'd L2202 @

ZSBL1—d4 # NOILVMISIORN 40 SNOISIAGA
SUIAINIONT IWNOISSIHO0M um_ ow.oMomE_%mwh mzwﬁ%ﬂmﬂmwmmo AH 41vd [ON

L6LI67659°C1L8 VON esuoyd 7
CESET i PoLIDA 00z XoB o \S@% XTAWISSY 80 19vd

*ONI ‘SLNVLIINSNOO ONIaTing
d00Q SSY19438!4
£Zi¥OL# "I'd Svx3al NML—YWHIHL

Y~
—
[T
(=]

RW
LFS

©0

TX—-5140

DATE: 1/06/21
SCALE:  N.T.S.

DWG. BY:
CHK. BY:
DRAWING NO.:
SHEET

"3'd IPIUYOS ‘4 UOPUAT  ihg peupdedd sjuswnoog 110Naoyd

s

“Us acp m-mm.o.w@.mo»n::nl::\
Porarnansassese \
7 7

TQIAHDS ' NOGNAT 2

oon:w-\_\

s ER

Y *, ivg

N% ¥ o¢. -oﬁU h
QS8 Y QY.

/i
7

DS}

25

27

7“4\ HORIZONTAL CROSS SECTION
\5/ Shown w/ Back-to-Back Jambs

(0are)
\

% ] / EXT. SHEATHING

2
EXTERIOR

/]

DS

1
/" 2"\ HORIZONTAL CROSS SECTION

EXTERIOR
INTERIOR

&/
72
S 6\ Pdee ™

7“3\ HORIZONTAL CROSS SECTION

\U Shown w/ 2X Reinforcement

"C
TY

L
2 (e

/1 "\ HORIZONTAL CROSS SECTION

A\
W\

DS

EXT. SHEATHING —\ Gi 7) 0.15
*1 |

Bmp’Li-0pLS-X1\sBuImelq - D\(SPLS-0rLS X1) SSHIBPIS 39S 41 S| dWUON 94 PAZRID ,8 18 L ‘8.9 - XXX ¥ - IAL\su| JO 1da( sexal - S\LNINVINYId NIL BULBYI\SIUSIDN'Z



TONE SINVLTNSENDD aNiaing "m'd 1202 §

ZSBLL—4 # NOUVMISIORN 40 ILVOLHLLNID SNOISIATY
SHIINIONT TYNOISSIAONd 40 QHVOE SvX3l mzoﬁ%%mmwwomo Ag J1Va [ON| — =ln| o 1_
Ny held A
LELE'6S9'CLE ON suo : & <+
c6aCe ot ootimn Oc% Xo8 o \Sv@ TXTGNISSY d0 18vd W ] A I P &
‘ONI ‘SINVLTINSNOD ONIgUNg N g | 7_
¥00a SSY1943gld = |ElElg &
SZLyOL# "B'd SVXAL NAL—VAEIHL gi m sllZ 5
A'd IPluyos 4 uopuk] Ag peJdodeid sjuswnoog 10NaoNd 3513 W 3 m S
¢
Y
“-.:.- ssensasercres Lo u-“
Z LQINHOS 3 NOGNA1 2
4 Soeteyh egesserd
R coixg
\m-.<. &..... %V ‘ ...nva,km‘l w wi
AR 5 iy
--W.~*W..~:w.&....w%h( nNu A @
T i S &
Z 0O m
[u%4 i) =~
O 9 O
% %
5 3
i
2 2
w . L
= -
<=
an B~ Dm m »mu
& : Els
&
/ / M @ mw
e e m R@
it} fre] )
g o =
a P
\ O
ac
&
N —d
I” A
O
> =
\_ @ @)
\ g (e
-~ & *
=
<
=z
S~
(274
O
LLS
I
o
N
~ = O
o
o i 0o
o
1L
= O
i

N

7“3\ VERTICAL CROSS SECTION

w Inswing Sill

/ EXT. SHEATHING
/“Y

OO0

o
o
o ~
S L @ b
5oz z o
= O w
~ G (®
(7]
vy
s
e
-~ QO g
- @
RIS = 5
\ \ o 5
> v
ot | oz W
z & T
- -
& 4 &
&
>
o
3=
)
S
z

1. Sill ltem #'s 32 & 33 are attached to jombs

Note:

BMP’Li-0pL §-X1\sBUIMEId - D\(SPLS-O0pLS X1) SBHIBPIS 195 41 S| dWIUON D4 PazelD .8 1 L '8.9 - XXX Yd - 1QL\su] 40 1daq sexa] - B\LNINVINYId NiL BULIRYL\SIUSID\Z



Z:A\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' Glazed FG Nonimp IS Dir Set Sidelites (TX 5140-5145\C - Drawings\TX-5140-41.dwg

4" (TYP) —=i

- 4 (TYP.) —]
H 4 (TYP) —]

{

JAMBS/
MULLION

HEAD & JAMBS
(TYP.)

_BACK-TO-BACK

2X REINF.
(TYP.)

—  wooD o -

— SILL (TYP.)
i

oot

14" MAX
0.C. (TYP,)

%j

XO/OX

®

T
Sl
e

TYPICAL @ EACH 2X REINFORCEMENT

d

2X FRAMING
(TYP.)

d

DOOR FRAME
(TYP.)

(3) #8x 2-1/2"
PFH WS

JAMB TO HEAD DETAIL

(TYP.)

¢ JAMBS/
MULLION

| e

/7
/4
TOE-NAIL DETAIL @ HEAD
ﬂ 4 (TYP.) —=]
£ (TYP) ——] |

1
1

11

N

l@ H

HEAD & JAMBS
(TYP.)
BACK-TO-BACK
2X REINF.
(TYP.)
= wooD
CONCRETE
SILL (TYP.)

6" (TYP.) -——l -

14" MAX
O.C. (TYP)

-
ot

FLOOR SUBSTRATE MATERIAL (TYP.)

CONCRETE (MIN. 3000 PS})
WOOD (5.G. >=0.42)

FRAME ANCHORING

FRAME
L (TYP.)

\\
A\ Q4

A
/4
1

TOE-NAIL DETAIL @ SILL

TYPICAL @ EACH 2X REINFORCEMENT

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FlL. 33595
813.659.9197

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

THERMA—-TRU
FIBERGLASS DOOR
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

REVISIONS

NOJ DATE

pATE: 1/06/21

scale:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5140

sHeer _ 8 oF 11

© 2021 R.W. BUILDING CONSULTANTS ING.



"ON] SLNVLINSNOD SNIaTINg "M’ LZ0E §

ZG8LL~d # NOLVMISIORY 40 IAULVIIALNAD & SNOISIAZY =TVG ToN
SHIINIONZ TYNOISSIAONd 40 A¥VOE Svyxal - -
2 oS STIVLIA FHVMGEVH Slalzle| < =
616°689°CLY FON eudyd : : S Yl
$6GEE 14 OOMIDA O€Z Xod ‘O'd \Sug ATEWISSY HO 1dvd 3 m 80 °
"ONI ‘SLNVLINSNOO ONIGTING N REREIN 9_
4000 SSV19M3dld =l 1B Ele &
CZLYOL# "T'd SWXIL NAL—VAAIHL ] m ol W &
‘I'd ‘PIUYSS ‘4 UOPUAT  iAg paeubdeld sjuswnoog :110Naodd SI815|518 %

ITARALRS KW

. 3co-::.osgooo:::..::f::—

LAINHOS 4 NOGNAT §

Sassencen EAPERTPIERENIIFEIERIRI LRI Y
.

iX

" Pi

&.ﬂ S g

&, Gy o
i V\ a-t‘- R a.-nx-.'p(\ﬂ\

.‘ lb
2 ., O
;
;

2X STUD/2X REINF.

@ BACK-TO-BACK

TRLLULWY

A
=
N
nd
o -
1>
f}av'
)

HINGE DETAIL

@)
8-
(2
e~
W

\
©

GWVT 40 J4OOA AI¥GAH/ LN
dOL WO .SZ1° 1L ('dAL) .S2°6T

WVT 40 J¥O0a Jood
dOLWO¥4 5T L1 (dAL) ST 6T

i

B

\

HINGE JAMB

SEE HINGE
DETAIL {TYP.)

—~—— (S'L 7) .88'%F

3
:Wm mm
b {fa)
_ == ] | -
_ = ] ¥E
| O
Glg
/ 5
o
H.IL
00O .
= 0=
S
BBe
o8
=3
v <C
8
® 5 w
g 3
- 2 &
@ m M B
Q b |
- me wend
/@ Cle m...m Mmu o
\ | Y y | \“\! “ m;m mm m
- . L
X
P14 e < e
. S
o
<C
e

BMp Ly-0pLS-X1\sBumelq - D\(SLS-0rLS X1) SeMBPIS 39S 41 S| dWUON D4 Paze|9 8 1 L ‘8.9 - XXX ¥ - [QL\su Jo 3da( sexa) - \LNINVINYId NiL BULIBY[\SIUBID\Z



TON| SANVYLINSNOO aNitaning

MY LZazg O

DOOR PANEL

DOOR PANEL

ZEELL—d # NOLVAHISIOZM 40 3LVOLLINID SNOISIAZY :
SHIINIONT IWNOISSIH0Nd 40 Qu¥vo8 SVX3L SIVLIA ONIZVIO Ad 4ivd [ON Slalzlol o H_
2] V8
LB16°6S9'CL8 TON Suoud : Nxlal ¥
S6SEE "4 OOUIDA O£Z Xog ‘O'd \“\P\&. ATENISSY HO Ldvd 3 _,Nl BTy °
"ONI ‘SINVLINSNOO ONIdlng N .. z m_
4004 SSY1943dld — 1B Elg &
SZIYOL# I'd SVXIL NAL—-YANL3HL @ m g | ¢|E &
‘F'd IPILYOS "4 UOPUAT  :Ag peupdesd sjueUINDOQ :10Nao¥d HAEHHE i
/2 .\v.h.
s WiHOge L
e’ N ...»..-. ........
um.u.. Q.xsvw.mo....- owmzmﬂ 3 .«...V\an‘». -Nw
227 eziyol ..,m..,w
\?.onooo.o-:o.a....o.o:o:.:-. -
% LOINHOS ' NOQNAT 2
\ ....... O TR T T L AL L L i
9 X" f+g
Pr o, ‘%. Ay
b Y i R :
Tt _ e £¥'0 -
MWy iadata i 'O XYW.ZL !
: - . o
w nmu
o i e
i ; o
il 5
=% 5
~ i
{ 2
/ -
- IHOBRH "O'Ta.2l'e? & &
. oY
=9
<3
o o.
* 3
o
:@W.O |'~ “111
o]
=
o)
T3
2 Bo
&
| oaR
ri— (@
(2] (2]
a3 3 2
4 O 0 0
2 3 2 2
o o 9o B w &
g £ 9w @ < 2 =
28 £ 2 o E o3 &
o r s C o S B ox B 0K
v © o oo Lt O X = = Lil
L = < - <
= % Q.. = o
@ al A «© -
g - 2 ® 3
3 2 3 | z
& 5 me, = Bo,
— A o o :m-mv Q o m.mv
* \ M .mnm W M o&
y ] %9
3|28 SER
z 2a
e . s, L4 m z
o iy Qx = a3
29 Gl I R Y /| 2e
29 VAR \ u 27 < O
2 w2 g :
QO W
50

BmMp'Ly-0rLS-X1\sBumMeIq - D\(SPLS-0FLS XL) SeMBPIS 18S 11d S| dWIUON D4 Paze|9 8 18 L '8.9 - XXX ¥d - (AL\su] J0 3doq sexay - \LNINVINYId ML BWIBY\SIUBID\Z




Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - DR XXX - 6'8, 7' & 8' Glazed FG Nonimp IS Dir Set Sidelites (TX 5140-5145\C - Drawings\TX-5140-41.dwg

—

BILL OF MATERIALS

ITEM # | DESCRIFTION MATERIAL
B 2X BUCK {G >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
F #10 X 2" PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW ({1.15" MIN. EMBEDMENT) STEEL
Q #10 X 3" PFH WOOD SCREW (1.75" MIN. EMBEDMENT) STEEL
R 3/16" X 3-1/4" ITW CONCRETE SCREW STEEL
X 2X REINFORCEMENT (SG = 0.55) WwOOD
1 WOOD JAMB (FINGER JOINT PINE ) WOOD
2 COMPOSITE JAMB COMP
7 WEATHERSTRIP FOAM
8 DOOR SWEEP VINYL
10 #10 X 1-1/2" PFH WOOD SCREW STEEL
11 #12 X 1-1/2" PFH WOOD SCREW STEEL
22 #8 X 3/4" PFH WOOD SCREW STEEL
23 #9 X 3/4" PFH WOOD SCREW STEEL
24 #9 X 1" PFH WOOD SCREW STEEL
25 #8 X 1-1/2" PFH WOOD SCREW STEEL
26 #8 X §/8" PFH WOOD SCREW STEEL
27 LATCH STRIKE PLATE STEEL
28 DEADBOLT STRIKE PLATE STEEL

28A | DEADBOLT SUB STRIKE PLATE STEEL
29 4" X 4" HINGE STEEL
32 INSWING THRESHOLD ALUM/COMP
33 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP

40 | DOOR PANEL [BOOK]

41 | DOOR PANEL (HYBRID)

42 | DOOR PANEL (UT)

CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the comers may be adjusted fo mainfain the min.

edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor fable:

mw o " "
TAPCON® 1/4 1-3/4 ry 4
DeWALT " " " n
ULTRACONS) 1/4 1-3/4 1 4
ITW " ul ul U
1APCON® 3/16 1-1/4 3 1-1/2

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws o prevent the splitling of wood.

1.25"

4.56"

0.75"

M

—

236 —

( : > WOOD JAMB

1.25"

456"

STy
Soxrinl 4yl
FD et T i 0
pl*?:-' i 2 H 'o. {9 ?‘}
AL S A
Py HeET] %. WY
:‘ ‘:’ 1] EN @ ‘
&i fwiy EX
i o bt 5 S
e 101 X
5 1= S I
?11 “{&"""'z z EO"..' OQF‘I
Qo win i %S

Wi

i 212

@ COMPOSITE JAMB

r 208" —~|

32 INSWING THRESHOLD

Adjustable Composite Sill

(] SIDELITE
=~ ADAPTER

L———— 244" ———»]

5.83"

33 INSWING THRESHOLD w/ SIDELITE ADAPTER

Composite Sill

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: B813.658.9197

Documents Prepared By:

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

[\ wn
S| =
[®] EZ
Eo L
|U‘) v "“O
2 |3 3
By (o T=
Lo 1= ko
& (o SO
£ @
@ |2 I
g (g ®
8 (@]
2l B
o 0.
>.
m
%)
pd
Q
v
v
=
S
o
=z
oatE: 1/06/21
scae:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX—5140

sueer 11 of 11

© 2021 R.W. BUILDING CONSULTANTS ING.



